Foundations and Pre-Calculus 10

Extra Sequences and Series Practice Questions

VA
1) The terms 5x :rl?,?x 4,and 10X + 6 are consecutive terms of an arithmetic

sequence. Determine the value of x and the 3 terms.

Comwion Al C O WA g a/Q
|

b 2%\ 5 1™ dep, = L /s _3"'\ i. 2__‘/‘" Aerw,
| SFdem = 3% = 2% Jend
(Fr-4) —(Sae2) = Cloacas) —Q—-,&,g‘>

Fe-Y - Sae—2 - (Ok*g,\qﬁ Lﬁ
i A

= Baca(o -
;Z'k‘ —1O | "ch' -—lb |
ETIE
54 «+2 Fx-Y : (DA vtb
SOt 3mr-y (16 +£
—%Q =L -y e - s

ory Wb . -159 |
2) The sum of the first f te s of an arlthmetlc/serles Is 3 and the sum of the first four
terms is 46. Determine the first 3 terms of the senes an
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3) The 15% term of an arithmetic sequence is 43 and the sum of the first 15 terms of
the series is 120. Determine the first three terms of the sequence.
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4) Answer the foiiowmg as either true or false.

a) Doubling each term of an arithmetic series will double the sum of the series.
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b b) Keeping the first term constant and doubling the number of terms will double s
the sum of the series.

c) If each term of an arithmetic sequence is multiplied by a fixed number, the

resulting sequence will always be an arithmetic sequence. .
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Answers
1)x— 16 terms =18, =116, 154 2)4 9 14,-S; =99’ 3) 27 =22, -17 4a)Tb)F£)T
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